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Read the following instructions carefully before you begin to answer the questions. This Booklet contains
questions in English as well as in Hindi.
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INSTRUCTIONS TO CANDIDATES

1. This Booklet containg 200 guestions in sl comprising - the

following four parts |

Part A :General Intelligence and Reasaning (50 Questions)

Part B :General Knowledge and General Awareness (50 Questions)

Part C :Quantitative Aptitude {50 Questions)

Part D |English Comprehension (50 Questions)

2 In guestions sel bilingually in English and Hindi, in case of
discrepancy. the English version will prevail.

3. All guestions are compulsory and carmy equal marks.

4. The paper camies negative marking. 0.25 marks will be deducted
for each wrong answer,

5. Before you start to answer the questions you must check up
this Booklet and ensure that it contains all the pages (1 - 24)
and see that no page is missing or repeated. If you find any
defact in this Booklet, you must get it replaced immediately.

6. “You will be suppled the Answer-Sheet separately by the
Invigilator. You must complete and code the detsils of Name,
Roll Number, Ticket Number and Test Form Mumber in the
Answer- Sheet carefully. You must also put your signature and
Left-Hand thumb Impression on the Answer-Sheet at the
prescribed place before you actually stat answering the

quastions. These Instructions must ba fully complied with, failing]
which, your Answer-Sheet will not be evaluated.

7. Answers must be shown by completely blackening
comasponding circles on Side-ll of the Answer-Sheat-40ainst
relevant question number by Black/Blue Ball-pdint Pen
Answers which are not shown by Black/Blu="tali-ng c
not be awarded any mark. 7

8. A machine will read the coded inforfiation (gg
Sheet. In case the information j=Tncor

<% 1 st R e |
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oo O A g 200 7 F, T e e s g
HIT & ;. HIHY QT UF Aty (50%%)
T @ . A A U ST FET (50 W)
HET I HEAeRE ATEETT (50 )
HET T 3t afimw {50 =)

3T 3t frdt s 3% S e e ey v # R B Y
Ty & s Rrewor &g g |

e et f amweE e s |

T O A IS S B9/ BT A 55 o TR 0.25 3 e

ST |

O 317 % e v AT e s
T | SNt it o O e e e e,

8 ;_Q;Wm"—a;agrm|

P :!-‘-g,';_T@?;:i‘lgtjeilﬂ'm HAT & wE i T e
TEAET T o TR S-SR O & I o e
@ o AT W Se /e T er-Ofsz Sar & 7T S I, T

awardea ZERO mark > 4 SO W . s et e e e |
9. The Answer-Sheebri st be wmm N igilgte BETore T 90 & SreraT svdee A & 0 HEA & e o 0 sl
you leave the B<aminat :g&..?\ > Y U 3 R A |
10. any of 1H#above _igstructions will|o SRV ier SEeY & e TR w8 e e & g a
] .!.E.’.r,, Ich actlagiﬁem!w as may be e |
wh.? 10, 59 & st A F frelt vw w5 oft et 7 et o seeEET O
n arenlhgiestions am to be answared
acof his Booklet (Page No. 24), Terdwrgar S = w § waes R s Ee k|
irefully before actually answering the||11, Faff=Twsi & Srer dt oy TRy e e & o (oo w24 el
: BT AL Sk sy e S IR AT e R e |
12 \ £ as quickly and as carefully as you can,
Some glgstions may be difficult and othars EEIS}I'.:FUD not spend 12. W *ﬁ?ﬁﬁﬁaﬂ'ﬁ?wwmt | FT T HIHE T4
too much hre on any question. To S | T vs I O 95 M e A wee |
13 No rough work is to be done on the Answer-Sheet. Blank||13. T TF ® Seore-aTae W Al S | 99 ofie & Rt
spaces provided at various places in the guestion bookiet|
may be used for rough work. Fuwl oY Iqwen @l SoTEl 9T T FRE fe e B
14 “Mobile M:;fm;:" and wireless communication devices are||1s ofteraiv / FE A FiarEe el e dan wan At g aww i
compie nmed In the examination halis/rooms. =it st =, F EATE FiaTET
Candidates are advised nof fo keep mobile phones/any other L R » mﬁgfﬁﬁ;&mﬁ = mh'fmﬂm;
wireless communication devices with them even in switched i TR
off mode, in their own interest. Failing to comply with this FT HGIRA 7 547 S GO A g0 I9TT T T AT FTCAT A
provision will be ;:n:fdmd‘ as using unfair means in the| I [AeT ST €T AT, ST FER AT A A E Ry i A
examination and action will be taken against them including| T e & vt arelt vt & aiEafaT FroeT
cancellation of their candidature and future debarrment from hmﬁr " et ot
appearing in examinations conducted by Commission®
JMJ2015 / B178586 1
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Part A Ganeral infeligence and Ressoning / 8197 & HHT FlaHoT a8 FEuiRT
i b T) DCBA:WXYZ::lJKL:?7
¥ . A) RQPO B) PONM
Part A: General Intelligence arfd easonin C) QPON D) SRQP
I &: §IAFY Jewcar vd ahufea
1)  Which is the correct image if the picture is held in %) S
front of a mirror? A) 5 B) 3
afe; o &1 ador & wne @ o A 3wl C) 2 D)1
yfafas Fargem 2
- Directions: In Question nos. / fRdr : X7 T&AT 9 to 10 & one
or two statements is given followed by two conclusions | and Il,
/3' You have fo consider the statement to be true, even if it seems
4 to be at variance from commonly known facts. You are fo decide
G which of the given conclusions can definitely be drawn from the
given statement. Indicate your answer,
=11 s % 77 &t aFeEw Rar aar  fawd st 3t v sl
7 Rwra e | Jrawt R #vard ) sraew wer ot aw
G mmm#ﬂmv@?@m 9wt Aoty
- FAT# i RUarw avaew iwa*m?
P Mﬁmmmm
Directions. In Question nos. / der : 77 §&IT 2to 3 # from| %) Sial C‘*wsgfams até fleshy but need least
the given alternative words, select the word which can not be r m flash
I Yy plants are cactus
formed using the letters of the given word: oY »Cactus plants need least water
ﬂm@ﬁaﬂw##wmgﬁrmﬂvwmt o 3,-_, memgmﬁmm
HE F7 GG Fe 77w 5 Ewar: _ £ ST A B
2) CHARACTER P A V4 e | st RER i dew e E
A) CRATE B). CHARTER I : erew St 1 =1 o= §1 WSEEar E
E}FA#EARW D) TRACER %’l
3) ADMINISTRATION A) Bothland |l follows. B) Neither | nor Il foliow.
A} Station Minister fFemd | 37 11 2T T3 & afy
Directions - In Question nos. / fder : ¥e7 &&aT 410 83 __C) Only Il follows. D) Only | follows.
Select the related word/letters / number from the given Fas o || et foysd | frararen
alternatives. ; e ) el
v 7w fewrewt & @ wrateerer s/ snanet/ wear w ghw|
4) DHLPTX :BFJNRV :: CGKOSW : ?
A) IJKLMN B) AlOMUQ
)g.y AEIMQU D) UMQEIA
5) hive : bee : eyrie: ?
Tl | AYHFEr - SaraE: 7
A) Parrot / &ET -B) Eagle / 152
C) sparrow/RfFmr P Ppigeon /weR
6) STAR :RATS ::WARD: ?
_A) DRAW B) SHINE
C) MICE D) FAME ,
JMJZ015 1 6178586 3 ey o
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P & Geeers’ Isbaligence and Reasoning / ST & FHT §aeeT TF JeaT

) statements / aFEET:
(a) :Some schools are Laboratories /| $& FRe
ST &
(b): All Laboratories are theatres / ®3ff SRT2IT=TT
AT §|
Si /
(1) :Some theatres are schools / T ACTIET
e 8
(11) :No School is a theatre / &§ 8f Fger ArCTATAT
el §

A) Neither Conclusion | /J/Conclusaon | follows.
nor |l follow. e | EaaT B
e ITE I H A HIE

& 78T Peean

C) Both Conclusion | & [I D) Conclusion |l follows.

tals Forsard |1 Freperer &
e | o || Bt

GELGED

nl

11) |f a mirror is placed on the fine MN, then which of
the answer figures is the right image of the given

figure,
fe o g9uT FF MN &7 9T @1 J19, a‘rﬁrmﬁm
mﬁﬁ#ﬁaﬁ#ﬂmﬁﬁmﬁr
wiatae gl ?
™ "e-ix
|
W £
w . P
/&\' .h{K’\\ @ @
A) B) C) /D]

12) How many faces can you count in this 3 -
dimensional model 7

Direcsions . In Question nos. / fAdwr : W7 84T 110 18 7,
find e odd numberfietters/inumber pair from the given

Prearves
Bvav Beeel & & Bvew gegr | 3ew | gEgr 3 9iaT|
13) X
A) (57) B) (2031)
L E¥147.49) D) (11,13)
14)
A) mmm gqgq tt B) bbbfffjj
C) ccc ggg kkk }} kkk ooo 888
15)
_A) HIUL B) QIEM
c) Zowv D) TEAP
16)
A) 9100 B) B‘HD
C) 1234 A
i
17) \§
""'] Mangﬂld.fm ‘ *Tultp!t"{ﬁl’q <4
WY Dilowsimam
fé‘;
Brass | fiaer B) steel / zEua
Clovin/fomr D) Bronze / FET

' 19) A circular sheet of paper is folded in particular
manner, punched once and then unfolded. Find out
the manner in which the paper was folded and
punched from amongst the answer figures.

TS FeaTeh F1aTal o1 Ueh faery g7 & gy a7 & AT
fopt v A FafE & @e 7 & | 3eaw ampfaet
FI W T FATST T IH HE Ie S A R aw
o ¥ A e Rraramar

5@ 3 s A § o guTei £
A) 18 B) 14
c) 16 D) 12
1
(!
-
JMJ2015 f 8178586 3 PT.O
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Part & Gaversl Inisligence and Reasoning / 5737 & BT §RT=T v 74w

Directions. In Question nos. / 33w : ¥99 &4T 20to 22 &

25) Asmange the following according to dictionary.

= 19 & v aviEA # wgan Rfae
select the missing number from the given responses. 1 F ﬁ'l:!’
i . Fenesiration 2. Feather 3. Feed head
E'F'Wﬂmf##ﬁ”mﬂﬂ?’l 4. Festure 5. Feminine
20) A} 24351 B) 42315
C) 24153 D) 42351
? 10
4 Dirsctions: In Question nos. / Rder : W7 TEIT 2610 27 7
6 which ome set of letters when sequentially placed at the gaps in
. ey py the given letters series shall complete it?
I #T e & SAF @ JrE! v sHar e & et
A) 24 B 19 FET AFETE QU Eiam
C) 18 D) 12 :
26) LU_TUPLUBTU_LUBT_P_UBTUP
21) E E ; __AY BPUL B) BUPL
3 4 a3 C) LBPU . D). PBUL
e [ 27) B_CCABB_CABBC %8 CgA
A) 10 —B)
c) 9 D) 8 A) BCBC BBC
C) BCCB BCC
22) % .
= ing st the relationship
8 12 14 i igo0y. Fsyenoiogy and Humanities?
sl B4 9 3% . T F e T s sEehE,
4 T 9 | . s e aR Fdw Feu S g g
<t \
A) 71 B) 76 "4 \ N\
C) 53 S 8 Lol \‘3} : s S
A > 0F W , \Wia sV ap @
23) Change symbol and solve accor%ly to find i T
correct answer from thealternatives given below: ) =5y D)

Arer R s Rwedi e @8 Jea7 w0 s T

AE i?ﬁ.ﬁlﬁ!ﬂl T AR degeER 38 g FifaT |
948x7 =24, 4xTx3=14  Zx1x9=7

Al B) 11
c) 10 D) 18

24) From the given answer figures, select the one in
which the guestion figure is hidden/fembedded.

&1 a1t Ieer At A F 37 3o} Wi FgAT
Srwd weet amefa MfRa 2
e %

.

! | | | || :

A) - B) C) D)

Directions: In Question nos. / & 399 §&4T 2910 0 &
Which answer figure will complete the pattern in the question
ﬂyum?

FITH 0T FEia 0T HHla F Tlaey s g st

29)

~

o

JMJ2015 / 8178586
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Swr & Semessl Inisfigence and Reasoning / ST & R Qo= ©F ahuinT

31) From her home facing south west, Kavita walks
15m and turns northward and walks 12m. How far
was she from her home, which was her starting
point?
o=t &Y § fErvr-afas i 3K g &0, Fiaar

15T, T & 3 T 3037 &1 30 7Ea 129
Tl £ | 98 H9el OX & ST S GiHe ool 4, 98

feraet gg ofr?
A) 12m By 9m
C) 10m D) 15m

32) Two horses A and B run at a speed of 3:2 ratio in
the first lap; during the second lap the ratio dlffersr‘«
by 4:7; during the third lap the ratio d]ﬁers
What is the difference in ratio of speed a\@
between the two horses.

Zrae A 3T B Uge geT A 3.2 mﬁeﬁrm
glea & gy g9 A 30T aaw 047 & AT e
A TR AGIE Fo T 6:9 B e & el

et & e g TR arTa # frdar iR B7
A) 1 B) 2 _
c) 4

33) Keeping her back towards the rising sun , Reshma
starts walking. After a few minutes she turns left
and keeps on walking. Then a little later she turns
right and then left. In which direction is she going at
the moment?

3fea 19 w3 $r 3 el dis =, W3 99T OF
A ¢ | T AeTe 91E 98 910 §F7 Sdr ¢ AR Tec
Tt & | A9 9 8T a1 9% e g o & AR R
&0 5 S & | $H &1 98 e fEem & o @ 8

A) West or North / B) East or South / g& ar

Dirsctions In Question nos. / A&er : ¥77 F64T M58 A
wors = represented by only one set of numbers as given in any
‘ome of he alternafives. The sets of numbers given in the
stematves are represented by two classes of alphabets as in
swo mattices given below. The columns and rows of Matrix | are
numterss from 0 fo 4 and that of Matrix If are numbered from 5
m & & emer from these mafrices can be represented first by its
|row @ mext by its column, e.g. ‘E’ ¢an be represented by 01 13,
etc and ‘L' can be represented by 56,77 , etc. Similarly, you have|
to isentfy the set for the word given in each question,

= v I UF HEIFHHE gaNT quiar aar g, Shar #)
BeTAd Fwtvr A Rwrawd| ReewiA Roaw
F=rFAF el & gt gt qamr gefe e e #Y e 2
v 2t aegel A #| JregE - | F wFH A R FrEEA0 3
& F v sregE- 1) 15 80| 2T IegE @ vw s
TFW IHS! iR HIT 1T F ETFH HET GIRT ST ST
F=ard] mw#rﬂtr's' #101,13 mmmm

aﬁ#mﬁm#ﬂwmr#
24) LANE
1'&\(
1?,;« h’s " siel7]8ls]
s Rie! (5]X|K[T|E[S]
J LeD'BIG 6 QA UIYIP
MB CIMH 7 UV OWE]|
) RILINIST1| 8 T\YAEU
4B/DMRJ 9XOE|VA
A) 11673297 B) 11663396
C) 31663397 I'.”IJ}‘__.E‘I 87 32 97
35) AIRS
MATRIX - 1 MATRIX -2
of[1]2]a4 | [s|e|7|8l9
O A[EM NP 5/ I|LIR|SIT
1 NJP/AJEM 6 RS T|IL
2 E[M/NPA |7 T I LIRS
3 P/AJEMN [8LRS|TI
4 M/|NPAE [958 T I[LR
A) 24 69,56, 78 B) 00,68, 78,88 -
C) 12, 76,99, 78 D) 43, 55, 86, 95 _

-

36) |If a represents *, b represents +, ¢ represents - ,
and d represents x then 24a 6d 4b9c 8 =7

T a + HIEAATE, b+ FIGUATE, o - Frgar

fRaH =T cofEn 2
ok ﬁdax:.‘:bg s%-a"ra : f“"’erl

€) North or South / 3eaT ‘EI/Suu!h or West / . :'g Ra= i : Y i

i afaeT 1 9iREH e :

i i c) 20 D) 6 L {_’;’

IMJZ015 1 6178586 5 FTO e
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Directions: In Question nos. / fadfer : ¥e7 &&4T 3710 38 # a
mﬁasfsghm.wﬂnmmmnnmmmg.ﬁmeu‘mmm
aﬂmtmﬁnmﬂmpfvmmuthatndﬂmmphm the serles.

T HgwA R 8, 3w v &t vg g | Re av Resyr

###Wﬂmgﬁva‘?ﬁmﬂwaﬂ
37) 24,3520, 31, 16, 27, _,
A) 8,25 B) 9,9
By 12,23 D) 5,30
38)
1 =2 2 2
- ??,8—8-,95,124—.165 -
‘ S
y 50 2 4
b o 16—
:’*H 35 /.2 154 4
£ A) B) c) D)

39) Which one of the given responses would be a
meaningful order of the following?

Fan A Gansral Inteligence and Ressoning /. &7 & FH §RATT v T
41) How many triangles are there in the following

square?
A=faa ot & e B #7
'\x,
.i-\ L&y
A) 7 ) 11
C) 6 Vg; 9
42) Wnich Venn diagram truly represents Teachers,
Scholars and students?
FEE 3 TEas e Bzt it et ar ad
Lt g o
== P
S 4 \ !

D)

the relationship
r and Journalist?

fover Rt 3 @ ter a1 e i R B areet o TR L AR e

Y F ET | 5

1) Rivulet / sy 2) Ocean | WY : % > 50 B | o000

3) Tributory /| HETI% &r  4) River / 572r PP (L A/

5) Sea | #Hg 6) Rain / aut A) B) < D)

A) 561324 B) 65312 '44) It GOODNESS is coded as HNPCODTR. how
/ej’m 3452 D) 64135 GREATNESS can be written in that code ?

40) Select the answer figure_which is the same as
quast_im'.ﬁyrg._
VH) S 30 T YT S 5 PR FFAAEY |

a2 GOODNESS #t HNPCODTR #rg & frar airar
& & 23 Sz & GREATNESS #' 3 frar smzer |

A) HOFZSMFRT B) HQFZUFRTM
C) HQFZUODTR _D) HQFZUMFRT

45) A man climbing up a wall of 24 meters high. He
cimbs 16 m on one day but slipped back by 3m 40
cms in the evening. How far had the man reached
on that day?

24 e 550 SR 9T T a1 U e o R A

2] =] © 16 #iET 3eT | AT a3 A 40 WA A
L L 1] | | E J e 7127 | 3% faw @ aneah el ax w8
L" - = A) 12m40cms ) 12.6m
/‘] B) C) D) C) 19m40cms D) 11.4m
IMJ2075 /8178586 3 P70
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Far & Sasecs imeligence and Reasoning / 5177 F Fees T 78 FatiiaT

£5) A piece of paper is folded and cut as shown below
in the guestion figures.From the given answer
figures, indicate how it will appear when opened,

1 9 HITaal # BT HEEn S S A #1
Fes qYT Wi F 91E 9 T Icat gy ofar
g & 2

50) Two persons A and B get the same salary. Their
Basic pay are different, The allowances ar= 85%
and 80% of the basic pay respectively. Wnst is the
ratio of the basic pay?

TEEIANRBR AR IO ATt | e as
57 e e © | e A9 994 & AT 65% =
80% ¥ | HeT AT T FH T4 87

' A) 7:5 A 12: 11
4 ; - c) 11:10 D) 17:15
= i ’ 1
. }« i . ¥ A
o o o o o
4] [#] e a
o +] o 0 Q
A) B) C) D)
47) In a language FIFTY is written as CACTY. CAR as
POL, TAR as TOL, how can TARIFF be written in
that language?
f#r 59T 3 FIFTY T CACTY, CAR T POL, TAR
I TOL foar Sirar & & TARIFF &t 33 s & 3
o s
A) TOEFDD B) TOEFEL
C) TOLADD D) TOLACC
48) Some equations are solved on the basis o "
system. Find out the correct” answer forsthe W
unsolved equation on that basis @
F0 FHAEOT Rl s § 30U 07 gt T &
| 38 ITUR 9T E o R AT @AEOT S 6 ST
EIG k|
TX6x4=674p8x5%3=583,9%1x2=7
A) 727 B) 292
C) 462 D) 192
49) Choose the similar group of numbers on the basis
of certain common properties they possess:
et HEanat & wag w9 Ao Gad g
HHTY 0T G |
(31,19,41)
_-A) (29,17,37) B) (23,33,51)
C) (27,28.47) D)y (16,27,11)
VY.
JMJ2075 [ BT76586 7 PT.O
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Payi B: Genersl Knowiedge and Genersl Awareness / 55T & FIS=8 7T 0F S ST

54) The equilibrium price of a commodity will definitely

ARERRHTERREERNN 2 h
rise if there is a/an:

Part B: General Knowledge and General R 3G & HgwA Aol A MR §9 § 36 F
Awareness B E?
U & S AW U AR SR A) increase indemand B) increase in both
51) Who among the following Mughal rulers banned = #ccompanied by ? damalnd and supply.
music and dancing? decrease in Supply. e AT AT 3
e e e g e i e e e
T Gfatr ST A1 T""' AT A R AR
A) Babar / aat B) Aurangzeb / 3trersa C) decrease in both D) increase in supply
: demand and supply.. combined with a
€)' Humayun / geT D) Jehangir / st S ayier 3K 3 decrease in demand.
AR A FAEA F Y
52) To whom the President has to submit his 2l # A B |
resignation? HT 3TafE o i g
AT T ITTAT T Tl Wl el el 87 £l
_.'N Vice President / 39 B) Speaker | FIFHEHAT 55) What does the word amhﬁn means?
eeafa FeaE FHIE AT T Y ﬁrﬁ?
C) Prime Minister / wtmer D) Chief Justice / 7ea m One iife *@Tﬁif L B) Trifee lives | T S
al i Fws.@mm D) Two lives / 21 sfra
53) Government of India has decided  to < W _a

7'56) mrha» Uniop (Parliament is to assume EEgtslatwe
K;tegirati S w:;h reli:’_ent launched Pradn,.an | petwer ovér and subject included in the S

Anil wshl Sncnayae oana l_ \ the resolution to the effect has to be passed by
e BT & BTl 3 3 1 a1 v A s which of The Tollawing?

Ao & e P v e TN e T e U A A e e

A) Haryali B) Accelerated Irrigation ST Tt o7 g 0T S B A FH IR 7 T
Eﬁm Benefit Prugrﬂmma WWWMW
afta s amy &
A) Rajya Sabha / =0 B) Both Lok Sabha and
FEHH Rajya Sabha
D) Mahatma Gandhi T oY wer A U
Mational Rural
Employment AT ST
Guarantes Act C) | ok Sabha | #te wsr D) Lok Sabha, Rajya
FeTeAT At ey Sabha and
; legislatures of the
TTHTOT TSI TAEET concerned States
. (;: 3t wrafru oot &
ey Few
57) Which of the following is the major copper
producing country?
TrATaTad # & Fle A7 &3 JET J1ar IeeE a3
g7
A) Indonesia /Z2@fEar B) sri Lanka / 8 s
C} Russia / 9 D) chile / fret
JMIZ015 7 6178566 8 PTD
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Parl B: Ganecal & and General Awareness / N9 & T 707 0F SIS Serawl
TowEpe

58) An electron microscope gives higher magnifications 61) T™he market equilibium for a commodity is

than an optical microscope because: determined by:
Folargre GEHCe, TR HERel ¥ #iOw ada =1 7vg 1 991 I ey FfE e s
4t & &7 =
ﬁ) The wavelength of B) The electrons have A) The market supply of B) The balancing of the
electrons is smaller more energy than the the commodity. ~ forces of demand
as compared to the light particulars FTA AT and supply for the
wavelength of visible ZaeT & wETer SOt TGN commodity.
light :
e A aoeed O s s E g | il
YT & afFat @
IS eI .
T A FH A C) The marketdemand D) The intervention of
| of the commodity. the Government.
C) The electron D) The velocity of AT A THER T EFE|
microscope uses electrons is smaller hid Gl o i

more powerful lenses than that of light

Foe geAes A Solerge 1 ST e
it ufEFamer FANAFAETE|
ST & ST

S|

62) Aluminium salt commonly used to stop bleeding

59) The forests which act as barriers against cyclones

are;
Sl & TR & HAUHH FFT I E A AT A
4 {1‘.’ 3
ad? . .
S8 BPhe Méfibers of the Constiiuent Assembly which
A) Alpine forests / B) Mangrove fnr@;s‘,i- -tf:,sf enacted the Constitution of india were:
FHeares a9 Hea @ % Tore AU §8T 28R 5T & Hiaun &
C) Monsoon forests /-~ D) Ewergreen forests / S EaaA T T TEE TIeg S 97
e g TETE A

A) MNominated by the B) Directly elected by

60) Total mtema! Fé?ﬁecﬁqn can not take place when Political Parties the Pecple
light goes froms: TSI Eell Zanr T gany #
wmwmmﬂﬁﬁ Tl § FTE aifAa T
TeRTIT e C) Nominated by D) Elected by the
Governor - General Legislative
A) glass to water B) water to glass AT AT A Assemblies of
F W BT g A T & g A = various Provinces
AT e weat $7
ST ] ST 8]
C) glass to air D) water to air forerTet T Zar
FY YA ag A g HEE A A IGEIEG]
Lt el 64) Chemical name of Gammaxane is
AT FuEERE g ?
Al Toluene | e B) Benzene —
hexachlaoride / &=
FFHEENES
C) Chioro benzene / D) Aniline / vRrS
T R EEw
JMJIZ075 1 B178586 S PO
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Part 8 meﬁ—mrmmmmﬁmm

65) Aclone is a group of individuals obtained through
T (Felle) R oo sehrsat e EaE

A) Hybridisation / B) Micropropagation /

FEERTOT HEATaT
©) Self poliination /=@ D) Cross polination /
HEHT-GITT07
66) Which of the following is used in the treatment of
cancer?
& F 3R & FrfatEa & & R gotr
SaTg?
A) Chemotherapy / B) Electrotherapy /
7 S SR
C) Physiotherapy / D) Psychatherapy /
rfSrareydy HiEgHET

67) The largest current, because of its dark waters is
known as the ‘black current’ and that js :

TF #i W 7R 9 U E S IaE ES O
FIROT ‘AT UHT Y FEr Fiar &2

.ﬂj Gulf Stream / F i B:l California Current [

70) Who w=s e governor - general during the Second
Angio-Mysore War?
T e AEy I A e - ISRE S A

A Wiemtimings!  B) g iohn Shore /T
=F fEE o

©) Lot Commatis /a8 D) Lorg Wellesley / &%
FE=E=TaE Eird

71) The i=rgest forest which covers 25 percent of the
workd's forest tand is:

== 25 5T 5 9 sreorfia s aTer wed

S EESEATE?
A) Monsoon forest B) The tropical Rain
forest
FEEs T :
30T Fieaeiy autas
C) Taiga forestaof Temperate forests of
Sibena Europe
ey & & 9 & eirasor
¢ Fiead aq

fer system, which device is functionally
%2 of aKey-board 7

@ @R o Q oo TR
C) Kuroshio Current / D) Antaretic Currgh LN ﬂ“:* -
ERUEE IR SR I EE s
& _“: 4 s i ﬁ'l B) E w
68) RAM is used as a short memory % computer . L - o
because it: P C) joyssexiaaftes D) printer/ fiex
RAM &1 92T srrges 3 alfe AFTr & o o s _ :
% ’ : 73) Immunization technique was developed by
: Vi A & e e R
A)ils very expensive B) Has less capacity A) 8 :
ﬁﬁmm & S T e A Lowss Pasteur | F% Joseph Lister / A%
C) s programmable D). Is volatile o= {Cp=y
Tg Wit & g g yitadaeie gar C) Robert Koch /s D) Edward Jenner/
gIel 8] 4 = L
69) Who among the following Sultans tried to prohibit 74) Cripps Mission came to India in .
sati 7
; e R s A sw a2
FafEd # 2 vy geam S o s s .
A) 194 B) 1942
SR foar 2 C) 1840 D) 1946
A) Mohammad Bin B) Jalaluddin Khilji /
Tughlag/ HgFme et SeTaels fResh
GUEES
FemsEe et
GUEE
JMJ2015 / 8178586 10 P.T.O
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Part B Gerersl Saowiedns snd Ganaral Awareness / BT & SEw= 7iF U8 BT SaaTi

75) Name the acid attack victim who was honourad

with prestigious “International Woman of Courage”

award on 4 March 2014 at the State Department
Ceremony in Washington by Michelle Obama, first

lady of the U S,

URRE 3itw $1 DT A aaEr B AR
W Afger B HamAr ganr afinea & 4 An
2014 = AT T Fawr §ARE & wiatsa
GERN “HAUSE 19 \IEHT AfgeT & AT fahar

IqT?
A} Malini / =nfar B) Nirbhaya / frstar
C) shivani / Rramh D) Laxmi s wewr
76) The founder of the ‘Arya Samaj was:
HIE AT § TEAGF S o
A) Raja Ram Mohan B) Dayananda

B0) Red rot of sugar cane is caused by:

e S e wery fRed o aadr 87
A) Phylophthora B) Alternaria alternata
mnfestans it Heexaer
C) Colletotrichum D) Cercospora
falcatum personata

FICIGISH horheH HerEaRT gEfder

81) Mac Iver says 'Kinship creates society and society
2

at length creates’
ATHaT Fge £ -TFY-aat F FATS aar § AR
Had: BATS & FI7 g7 £7?

A state /5
C) Nation / =

B) City state / oI5
D) Association / FET

Roy / T=T T3 &g Saraswathi / ZTHg 82) The hydrophilic nature of %ﬁ&s due to the
g TS presence of:
C) Vivekananda/ D) Annie Besant / Tt o » /o
EEEoC " &7 v
A) thyfine base B} deoxyribose sugar
77) In a solar or lunar eclipse, the region of earth's o ® E- SiEETEE a9
shadow is divided into - J ] number of D) phosphate group
G AT e AgoT e Ay v e s 0§ Brarogertbonds whete mh
b -
faremforer & el &2 ' 'L‘KQ TR gIggioret 9t
A) Twopars/arsmr  B) Theee parts IEﬁﬁW 83} Interferons are synthesized in response to
©) Five parts /arasmr D). Four parts [ =TT 37797 FTHNA TR s 7 dufese g g 2
. A) B) i
78) Which Article-of fhie dndian Constitution défines the Virus / fersToy Bacteria / Sty
duties of tne Chief Ministar? ©) Fungi/Fa= ) Mycaplasma /
AR A (e 3ooe 3 gegAa & Ff HIEFITHTSAT
FT RN (Fara 84) The first law of thermodynamics is simply the case
of?
A) Article 163 / 3= B) Anticle 166 / e TIRY 1 St fererat Fareaeran e e
163 166 AFEATE 7
c ; D ;
) Article 167 1 =35 D) Article 164 / 3mgeie A The law of heat B). The law of
167 164 éxchange conservation of
so R & Ry enengy
79) I;.Il&kdaﬁ wrote Ramcharitamanas during the reign Tt & T % T
C) Charle's law D) Newton's law of
FEHEE & THARaAY BEE e ae & e et B ok
Al Jehangir /gt B) Akbar/ s e & et fam
C) Rama Raya / T#T T2 D} Krishnadeva Raya /
FoTeE I
JMI2015 ] 8178566 1 PT.0
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Part B General Knowledge and General Awarersss / ST T #T 507 05 Bon=s s1aFd

85) The sense of balance is achieved by: 90) A reversible and an irreversible engine are working
: between the same limits of temperature. The
o= Sy rad A i i of
A) Spir}?l ?hﬂl‘d B) Cerebrum equilibrium TF 3hra AT o HFEY 55 JI99 & FEA
equilibrium mm e X ar
AT aq BT AT t
C) Thalamus equilibrium D) Cerebellum A) Each engine is 100% B) The reversible engine
e Haer equilibrium T o ZeTar is greater than the
100% g IohFd S Y gar
86) Nitrogen in water is commonly found in the form of NFEE T
AT F AL HHAN 9T FE T oS I g 2 e
A) Nitric oxi B) C) The irreversible D) The two engines is
N: ric oxide / siTsfes =), Nitrate / ATgE Goa s arecir b
c EWJTE 5 :‘:;r: nt;:e reversible 2rit ot Y Zavar
Nitrite / ATSgEE Nitrous oxide / sTgeH :
, HehFg Sofet HT R ER
CETCT 3eHFT 3ot
87) Name the kingdom which first used elephants in o= g g&“
wars? f“‘“ -
IH TG 1 AH a1s0 SE- 9gar a1 32 #F et 91) The most abundant element&%
& ST AT FEY WL A aﬁaﬁw%v
A) Champa / @#ar B) Magadha / HTtr - N‘ _ =i Nitrogen / ATsgtai=
©) Kosala / #hre D) Avanti / 3raeht '.*BR'%X < D) calcium / $feerm
P X \
88) Which one of the following chapters in the In ‘ @ "Bine fleshy thalamus is edible in
Constitution guarantees fundamental rights¢ !I* TER SomE e A e deg g g2
people? 4
muaﬁm#ﬁmﬁrﬁaaﬁﬁﬁwmﬁ A) Mango / 3T BY apple 1 3
ST T AMNENHG e v e Er C) Orange / FewT D) Tomato / zaTex
A) Part | J#rari B) Part v smviv 93) Who constructed Humayun's tomb in Delhi?
C) part 1 famara D) partiir/ mr i fewe # g 1 T Rt awvaar 4m?
89) Alow intarest Iﬂl;:? ig also known as : A) Babar / ama B Humayun / g
T SIS A 1 3T T4 FES B C) Akbar / 3az D) Haji Begam /zrah
A) income generating  B) investment policy aTH
policy. fAdrer Afe
I gt Ay
/51' cheap money policy D) dear money policy
T HEr A ARl g Aty
JMJ2075 ] B178586
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Pari B Genersil dsssesige snd Ganeval Awareness / 3T B AT 7 09 BF0-8 Jei

94) Regarding money supply situation in India it can be

88) Who among the following is named as "Haryana
said that the : o

Humcane™?

R F mger g f R Famru A sar e

gFEarE
A) Currency with the

B) Currency with the

Ta=aTag # O Fie gitaor g @7 F 3
sl

A) Kapil Dev/FRiega B) Nawab Pataudi/

public is more than public is less than the arE Tt

the deposits with the deposits with the

banks. banks. C) ajayRatsa/smm D) Ajay Jadeja/ 35
AT & T AT AT ST % OTH Hel S = e

AT FOFE| HAATATAE |

C) Currency with the
public is almost equal

D) Currency with the
public is inconvertible

99) The States reorganization in 1956 created 7
156 A ysat A gFiGA AT 7

to the deposits with only. A) 17 States and 9 B) 14 Stat e
the banks s an es an
R —— SAETeH & 9T T FaA Union Territories Union Territories
i " FRfEATR| 17 TsE 3R 9w 14 757 3R 6 7w
i i —
95) The total number of planets revolving around the C) 17 States and 6 D) 15 Slates and 9
sun Is Union Territories  UnionTerritories
T & TR 3R A gt g e e 82 UAGEESCECIIE AL Sk
A) sixioE B) Eight/ams N f_: @’
C) seven /am D) Five /9= 100) Thwrf‘ 8 Which afe obtained from bio sphere
an Ii =8
96) Economies of a firm are: ¢ TEFEST W AT O I Hl @ § e S
el & & gew Fr §? &

AT L TP
A) Saving in it's B) Areduction in 1. o A) Potential Resources / B) Abiotic resources /

—

production costs selling expnses " g AR T
e T # s e 7 HA C) Bioticresources/ D) Renewable
Fua g g resources /
C) Its dominance of the = D) An increase in its AU FE
market. profits
AT AT THes AHH Te
97) Reservation i? ‘the  Scheduled castes and
Scheduled tribes in the service has been provided
in the Indian Constitution under -
AT et & B Fgete § Hauiad smaat
AR sgafa o= snfoat & v 3mer & saus
g 7
A) Article 365 / e B) Article 375 / et
365 375
C) Article 315/ 3ede D) Article 335 / 3rgede
315 335
JMJ20157 8178586 13 PTO
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Fam C Quantilative Aptitude / BIFT T FEIT=RE H18

L T T ]

Part C: Quanti e
HIT 71:_ FEIeHS Hsh
101) The angle between the graph of the linear equation
239x-239y+5=0 and the x-axis is
T8 FHTT 230x-230y+5=0 T x - T F TF F

a1 &oT Faey e FT a2
A) 450 B) 30°
C) &o" D) oo

102) Incomes of x and y are in the ratio 4:3. Their
expenditures are in the ratio 12:7. Both save ¥
3200/- at the end of the month, then the income of
Xis?

xRy A HT 43 F 3qua A ¢ | w00 127 F
HgUT A | St & 7 & 37 A T 3200/ Frawa
FT &, A x Fr g RraAr 2

A) % 80DO/- B) 2 2000/-
C) % 6000/- D) T 4000/-
103) The mean of x and 1/x is N. Then the mean of x2
and 1is ?
x HR U FTAT N E | 2 30T 1/x2 &1 AT Far s .
i & 48
';"[ A) 4NZ.2 B) N2-2 6 I
(!l c) N2 D) 2N2-1 & BY%
d Ve | © A
3 104) The number of paving Siones ea ,;ﬂéa 0

I 2.5m x 2m required te pave a rectangular courtyard
30m long and 17-5m wide, are \

X J .
07 30 o 3 17 sa IS SR e Hee
T Tao & iew 2 55 x 280 &1 & et ot geEt
ﬁ!‘;\’(y.b L g ST ?
A) 105 B) 80
b €)Es D) 99
X R e
‘j}_’:{ ~105) A Trader marks his goods 20% above cost price
= but allows his customers a discount of 10%, the
“"P’\ cost price of a blackboard, which is sold for Rs 218,
fie! s

e FahaT 39 HIe O AT Heg # 20%
He 3iTeha sl & wifeheT 379 angsi 1 10%, i @2
& ¥ | sdeaTS F AT Apg FT R TR 216 F

106) A man bom in the year 1896 A.D. If in the year x2
AD. his age is x4, the value of x is?

U HEA S S0 1806 5. A gam | g ad e d &

T SE A S A wATFIE? {'Y;R’

A) 44 B) 42 Yo/

C) 40 D) 36 M
/ey,

107) If in a triangie ABC, BE and CF are two medians
perpendicular to each other and if AB=18cm and
AC=2Zcm then the length of BC is

afz %= ABC #, BE 3R CF 0% guy ¥ wr=aq ot
Fritas @ § 3R 3 AB=19em T AC=220m

& BC & &= faait £ 7
A) Z6cm B) 13cm
C) 20.5cm D} 19.5cm

108) Two circles of radii 10 cm-and 8 cm intersect and
the length of the common chord is 12 cm. Then the
distance between their S

he Sifmplified value of
{0.0538-0.002)x0.4 +0.56 x0.07 =7

0.04 x 0.25
F AP AA FATE ?

A) 599
C) 5996

B) 0.5996
D) 59.95

110) The term, that should be added to (4x2 + 8x) so that
resulting expression be a perfect square, is

(4x? + Bx) # wlar dr FEr S se #r gfomsd

SEHETS Ut 79t 9 T |
A) 2 B) 4
c) 1 D) 2x

111) The average of some natural numbers is 15. If 30 is
added to first number and 5 is subtracted from the
last number the average becomes 17.5 then the
number of natural number is 7

T Upel HEATHT &1 ghr 15 ¥ | af ogeh s

T AT Y | 30 Stz T o AR A e A s ver R AT
fﬁ} 2 200 B) 196 ar e 17.5 @ ¥ | I HEAHt S HE e
C) 108 D) T 180 20
A) 15 B) 30
c) 20 D) 10
JMJ2015 f B1THEEE 14 P.TO
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Fart C: Quantitalive Aptlude / 59T T FEQTRS HRTer

Directions: In Question nos. / fAder : 397 F&4T 11210 116 &,

The expenses of a country for a particular year is given in Pie
Chart. Read the Pie Chart and answer the Questions,

9T T1E # faet der dr 3y fviw & s qute v | o ard

FTHCTTT FNAT HITF &7 It A
Educaton | Heam
4 Ea-iraz]
bl ports
£t 547 o o,
15% A

State Developmen 3006
Ty flras '

/ Others

Mg

.-4" Flan

TrEw

112) If the total amount spent by the Government during
the year was ¥1,00,000 crores, then the amount
spent on Health and Education together was

Ife AR 2@y a9 # W $ir 78 Fe T T1,00,000

F3 of, ﬁﬁﬁﬁ?ﬁ?ﬁﬂﬁ!ﬁlﬂgﬁrﬁmﬁr P

R @d frar

A) 725,000 crore /#s B)-7 20,000 erore /ERE
C) 715,000 crore /&3 D). 730,000 crore | F013

B,

113) If the total amountspent by the Government during
the year was T3 00,000 crores, the ‘amount spent

on state deveslc t exceeds that on sports by
Tf F T ¥ 3 @ a7 e TR 23,00,000
FEd AT R s R @ dst w
e $t 12 U & e alw dsdr d 0

A) 745,000 crore /=05 B) 2 25,000 crore / FE
€) 735,000 crore /#= P) 7 30,000 crore / FE

114) The precent of less money spent on non plan than

115) The percent of excess money spent on Others than
that on Sports is

Tt B geen 7 Hey ey o F feae vt st
orEgHraE?

A) 27% B) 28%
c) 26% D) 25%
116) The percent of the total spending that is spent on
health is
T I G Tohclel Wi Ui @ frarg 7
A) 20% B) 15%
C) 25% D) 30%

117) 12 monkeys can eat 12 bananas in 12 minutes. In
how many minutes can 4 monkeys eat 4 bananas?

12T 125 12 B AW oFa ¢ (49804 F
s ee dmrasa e

A 4 Waa
c) 12 o) 10,
118) The smallest% hurpbg? that is 10 be multiplied
with 59@5 o é”@"’perfect sfjuare number is x.
ThBF of Mnf Xis ?

mﬂw@mﬁssﬂaﬁ#wmﬁwmﬁaﬁ
mmaagmd';xﬂwmmrmwﬁ‘?

A) 6 B) 5
e) o D) 7
119)
J10+J25+J1ua+ﬁ‘154+m i
7 >
A) B ) 4
S C/:] 2
2

120) The height of a triangle is increased by 10%. To
retain the original area of the friangle, its
corresponding base must be decreased by?

e, FHege Y FaE 10% Far & A ¥ | B waw
BT ATT 1@ & oI ST Ag8uT WU Bhaar

that on defence is T FLAT e
TETT & g & Teae o & fras afeg =1
1
ofRr @ frard? g%% 10% g;% 95%
A) 5% B) 10%
C) 15% D) 12% A) r' B) C) D)
¢ v
855"
of
‘{\ﬁf,f’\ 3
-//
JMJZ015 ] 6176586 15 PTO
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Pr O Ouanitative Aptitucs / ST T FEUHS IR

121) Provided, sin (A-B) = sinA cosB - cosA sinB, then

127) A fruit sefler buys 240 apples for Rs 6800. Some of

sin15" will be these apples are bad and are thrown away. He
; o ; . safis the remaining apples at Rs 3.50 each and
afE, sin (A-B) = sinA cosB - cosA sinB, 7l sin15° S Srofe of R 198, The % of apples thrown
FATEET ? away are?
A) 3 B) {3+1 e R IA00 A 240 AT WHE | AT
22 22 sedemTe i R s RUSA § | aE U350 %
C) {3-1 D) 43-1 e 2 9w S AT & & AT 198 & A FAC ©
L 242 | &5 717 #E I SAud FATE 7
122) How many seconds will a train 120 metres long A) 5% B) 8%
running at the rate of 36 km/hr take to cross a C) 7% D) 6%

bridge of 360 metres in length?
26 Tartt, wiareeT $r 71 & Tt are 120 FHiex &wl

YT 7 360 HYeT Fea G I R F A el

TS o ?
A) 48 Sec / Ho B) 46 Sec / Ho
C) 40 Sec/®o D) 36 Sec /e

123) The perimeters of two similar triangles are 30 cm
and 20 cm respectively. If one side of the first
triangle is 9cm. Determine the corresponding side
of the second triangle.

2 W st &1 aftATs FAY 30 om 3R 20 cm & |
T TE Feget 1 0 o 9om E A GHY Lo A
TeAEIT T A WA |

A) 5cm
C) 15cm

9
!

I

S

¢
£, ¥

E] B.cm " ,:’:
py 135 ¥ @

),

”
R2E T
e

<

s

124) In a factory, the production‘of gycles f@se to 48,400
from 40,000 in 2 years, The rate of growth per
annum-is 7

U et TTefeeet s RTATOT 2.9 7 40,000 &
a‘ﬁtﬁguoﬁm]mﬁﬁﬁm%?

A) 10% B) 9%
) 10.5% D) 8%
125) 2 km 5 mis equal to ?
2 km 5 m fFEs st § ?
A) 2.0005 km B) 2.05km
C) 2.005km D) 2.5km

126) If a shop-keeper purchases cashewnut at Rs 250
per Kg and sells it at Rs 10 per 50 grams, then he
will have

IfE U gEER T 250 Ui R i & H I
@fear & 3 T10 9fy S0 @ 1 X ¥ 3 49
Far & o 33 =T T g ?

B) 2549, Loss /@1fa
D) 209 Profit/ #Te

A) 259, Profit / T8
C) 20 % Loss /&Y

.
24 L

128) If the base of right prism remains same and the
lateral edges are halved, then its volume will be
reduced by

o7 wa Fes 7 HTUR 361 & 18 3R and &R a0
AT HTT & AT ST AT FTF HA e 4 8

ST 7
A) 66 % 50 %
C) 3333 % 25 %

ratio was 4:1. The present

TSy # FaTd 31 | IR aY
o4 o | AT adE 3G e R 2

B) 36 Years/a%
D) 40 Years /¥

A) 37 Years | %
C) 48 Years/ad

130) ¢/ 7 %
999x + 888y = 1332
B88x + 999y = 555

Then the value of x+y is 7 / @ x+y T H= T BT

?
A) 555 B) 999
S D) 888

131) f @ is an acute angle and 2 sin & +15 cos2 O =7,
then the value of cot &L is
af% o v = T & X 2 sin @ +15 cos2 @ =7 &

cot QL &7 AT 53T g7

A) 4 B} 2
5 4

C) 4 D) 5
3 4

Directions: In Question nos. / Brder : 79 F&4T 13210 135 P
Study the BAR Graph and answer the Questions
T TTE T HEAAT FHAT HIT T #1 I s

JMJ2015 [ 8178586
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Part C: Quantitative Aptituds / ST T Feairae Esit

B Quantity in LakhSogar Bags
o O & w e ant @

g Value in Crore Rupees
HFG TRIE FO9 A

1996 1997 1993 1999 2000 2001

Years
132) Value per bag was minimum in the year?
uia @R #pg few o sgEas ar?

A) 1998 B) 1996
C) 2001 D) 1997

133) The difference between the bags exported in 1999
and 2000 was 7

1999 3T 2000 & alE & ov axt & &=

rge FHaT o1 ?
A) 1,50,000,00 _Bj 1,00,000,00
C) 50,000,00 D) 2,00,000,00

134) Percentage fall in value from 2000 to 2001 is 7
2000 % 2001 & #F & 3 &4 F giawE

e & 7 N
Ay 75% B) 50%
C) 25%

D) 40%

135) The approximate percentage increase in quantity
from 1997 to 1948 was?

1997 & 1998 @& HEN 7 & &1 AT

A) 26.5% B) 26.9%
C) 27.8% D) 27.3%

136) The diagonal of a quadrilateral shaped field is 24m
and the perpendiculars dropped on it from the
remaining opposite vertices are 8m and 13m. The
area of the field is?

TN RN & &7 F 0T 24m ¥ 3R I T
st § FATT 0 7 8m 3 13m ¥ | 89 T AT

raaTE ?
A) 252 m? B) 96 m?
C) 156 m? D) 1152 m?

1e

137) The shadow of a tower standing on a level plane is
found to be 40m longer when the sun's altitude is

45° than when it is 60°. The height of the tower is
FAGE FTUR 9K WE et 1 Wors 53 & F9r 60°
&) g 7 459 B 9T 40m wHA B ¥ | efaw

_ K
> ¥
A) 30(3+/3)m B) 40({3+/3)m n q,_-< 5
C) 10{3+/F }m D) 20{3+3)m 7 é‘
o
138) The perimeter of a sheet of paper in the shape of 2
quadrant of a circle is 75cm. It's area would be
(Tr=22/7) 5
TF g & Tguter & R & FETe F 9RHAW 75 q}} 3
Fo ¥ | THHT ST R g1 (1=22/ 7) At
A) 512.25cm? B) 346.5cm? ftﬂ"
C) 693 cm? D) 200 cn;f
139) A number is increased by m%?%g-ﬁ back to the  “12
original number, itis to be reduced by?
mmﬁx%wma;‘;}wﬁﬁﬂwmﬁ :
& FaT 5% Fndel el g 7 y 1 (b
’ Plies,
A) M.m_ﬁ' By _100x % bg
#7000 $x 100 + x (
€) x% By _x %
: 2 100 +x

'440) A men bought a watch at 25 % discount on the
onginal price. He got Rs 40 mere than the original
price by selling it at 140% of the price at which he
bought. The price of buying the watch was ?

T AT & HF FIAT 9 25% G 9 UF =i @idr

| 3R T e ot v @ 3TF 140% I %
IO I I A AT T 40 T9 wifee e | esr

Tl S FrRg F A ?

A) T 800
C) T700

3
Vo

B) T 900
D) 7600

141) 'Q' is the circumcentre of triangle ABC. If LBAC
=50 then LOBC is

'0' 39 ABC &7 Uit & | I LBAC =500 ar

f_‘.\g ': -

LOBC frasmatem 7 fg’ug/m
A) 100° B) 50°

“C) 130° D) 40° |

a5 ) QN d
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S © Cwmestative Aptitude / 51T T SEETRE 308,

142) 20 men can do a piece of work in 18 days. They
worked together for 3 days, then 5 men joined
them. In how many more days iz the work
completed?

20 3EA TR FE F 18 RE A s A § | S 8
Tt e w1 e, 398 a2 5 et 3wy
WA & 17 | 7 s 2 2 7 2 ey 2

A) 13 B) 14 \
\5(12 D) 15

143) From two points on the ground and lying on a
straight line through the foot of a pillar, the two
angles of elevation of the top of the pillar are
complementary o each other. If the distances of
the two points from the foot of the pillar are 12
metres and 27 metres and the two points lie on the
same side of the pillar, then the height{in metres) of
the pillaris

FARIEAF I T m TR
ﬁﬁgﬁ#ﬁﬁ#%ﬁﬁ:maﬂwwmtm
€ | 3 @ are 3 St Rt iy 28 12 Srev st o7

]
r
111

Hex & 3R At g =9 o g o s E Tf-:‘_*/
Wt 1 7S (#ee ) et gt > YA
A) 15 B) 12 '
C) 16 D) 18

144) If x + (1 / x) = 2, then the value of x* +
A x+(1/0=2, 3%+ (115057

A) 27 B) 212
) 2 0) 2

17 x°) iag

®

145) Two isosceles triangles have enud! vedical angles
and theif areas are in the rafic 9:16_Then the ratio
of theiz comesponding heights is

o FHE T g S o avray B i 3w
W-&:ﬁtm#%a‘rmmémﬁﬁ
A)\3:4

C) 4:2

B) 8:45
D) 45:8

146) A certain amount of money earns Rs 540 as Simple
Interest in 3 years. If it earns a Compound Interest
of Rs 376.20 at the same rate of interest in 2 years,
find the amount(in Rupees),

Tt Ry o |renor ST & W a3 a9 #2540
ﬁnﬂﬂ#mﬁzﬁ#mg’rmawmﬁ.zom
Thhe = e d ufdr (et ) we S o

A) 1800 B) 2100
C) 2000 D) 1600

C) shrs ez
=

WD g 1= 7= {27, then the value of 3 will

a7
S =7 AT Yy mAm s »
A 1 B) 3
3
L~ B - =
¥27

%52 148) The ®8= swace area of 3 regular triangular

pyrarmc wi sach adges of length 1om is?

mummmmﬁaﬁwm

= I ooF £9ew g g 2

A f3em R o
-

= I P

® 4dzem A
3

149) If sin® + sin®6 =1-Then trvalue of cos?8 + cos'e

is
T sipB + sinia = + cos'e T AT Fr
2

»’ , ©8) 1
) CGY_ 0

0)¥8 bus melas at 40 km per hour covers a distance

n &holrs 15 minutes. F & travels the same
d&stancamﬁﬂkmpeurmt.rhowlnngwillittaka-m
cover the distance 7

4N s AR S e age g 15
e d st am s 2| 2% 37 50 el wREr
QIGE:FCod o e Oy
¥ Famamm a2

: ,
A) Ghrs 1ox )

B) 2hrs. et %fﬁ

D) :
4?‘!"5.1'5? Ehh ( 'E
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Pari O English Comprehension ¢ 5T & Skt gimmer

e e s i ok kel o

Part D: English Com nsion

ST E s afems

Directions. In Question nos. / [Ader ; ¥#7 T&4T 151 to 155 &

@ part of the sentence is underlined. Below are given
alternatives to the underfined part which may improve the

sentence. Choose the correct alternative. In case no
improvement is required, choose 'No Improvement’ option. Mark
your answer in the Answer Sheet,
151) | was angry at myself for making such a big
mistake.
—A) with B) noimprovement
C) about D) on

152) She is very eccentric woman.

A) Unusual
C) Impatient

_B) Generous
D) Noimprovement

153) The workers should have been more meticulous,

A} No improvement B) Precise
C) Committed 3) Punctual
154) Torture and trauma has made her a mental patient.
A) Lunatic B) Mad
C) Mania D) No im;:rrovemel"lh

155) The chickens in his farmare fatted Up nlnely.

A) Mo improvement
C) are fattening

= e

B) are fattened
D) are fattying

Directions: in Question nos. / fAder : &7 F&4GT 156 to 160 &,

four words in each quulhn out of which only one word is
correctly spelt. Find the correctly spelt word and mark your

160)
A) Cemetery B} Cemetry
C) Cemetary D) Symetry

-

Directions. In Question nos. / fder : ¥#7 HF&GT 161 to 165 &

you have a passage with 5guestions. Read the passage
carefully and choose the best answer to each question out of
the four alternatives and mark it by blackening the appropriate
circle in the Answer Sheet,

Passagg
Research is a detailed study of a subject undertaken on
a systematic basis in order to increase the stock of
knowledge, including knowledge of man, culture and
society, and the use of this stock of knowledge to devise
new applications. It is used to establish or confirm facts,
reaffirm the results of previous work, sclve new or
existing problems, or develop new theories. To test the
validity of instruments, procedures, or experiments,
research may replicate elements of priorprojects, or the
project as a whole. The primary gum‘raf basic
research are documentation, discouery, Mpratatlm or
the research and development of metheds and systems
for the advancement of Buman owledge. There are
several forms of rmarch:vg.man ic, humanities, artistic,
economic, seelal, BUsifess, Mmarketing, etc.

Academiic publishing describes a system that is
in Oftier for academic scholars to review the
E@ﬁmake it available for a wider audience, Most
agademic work is published in book form. There is also a
jiarge body of research that exists in either a thesis or
dissertation form. Many researchers spent their time
applying for grants for research funds. These grants are
necessary not only for researchers to carry out their
research, but also as a source of merit.

161) What is research?

A) Research is the
attempt to limit the

B) Research is the
creation of new forms

answer in the Answer Sheet. growth of knowledge. of knowledge.
156 C) Researchisa D) Research is the

) process having no destruction of

A) Encestral B) Ansestral practical use. previous works.

C) Ansasiral D)} Ancestral ;

) /J 162) How many kinds of research are there?

157) A) There is only one B} There are seven

A) Quriocity B) Curiosity kind of research, r:!lffenem:1 kinds of

C) Curiousity D) Curioucity i

2 C) There are two D) -There are different

different kinds of kinds of research.

158) research.

A) Antecedant B) Entecedent

C) Intecedent D) Antecedent
159)

A) Delibarate _B) Aberrance

C) Maditation D) Naseating

JMJ2015 / 8178586 18 P.TO 3
L] r .Jrl‘l. N
fl ﬁ T

Ay

Download From: http://sscportal.in



Download From: http://sscportal.in

Fat & Englsh Comprehension / §97 &: #dHt wfiame

163) Why is research conducied?

A) Researchis
— conducted in order to

B) Resesarchis
conducted in order to

minimize the result of verify information.
previous works.

C) Researchis D) Research is
conducted in order o conducted in order to
develop new destroy facts.
problems.,

164) Select the answer which best reflects the view
expressed in the passage.

A) Researchersnever B) Documentation is

apply for grants. impartant in
research,
C) Researchcanthrive D) Grants are not based
—~Without grants. on merit

165) Choose the most appropriate answer from this
passage.

A), Academic publishing B) Academic publishing
is meant only for is meant to benefit
experts. the general public.

C) Academic publishing D) Academic publishing
is meant only for is meant only for
professionals. academicians.

some parts of the sentences have errors and some are correet.|
Find out which part of a sentence has an error and hiacken i
circle corresponding to the appropriate correct ‘ption. If af
sentence is free from error, blacken the circle correspendii

"No Error” option in the Answer sheet.

166) The team was now in-the figld and aboutta take
their place

A) atouttotaketheir . B) now n the field and

D) No error

167) Our. beloved Prime Minister is known to the
prominent figires all over the world.

178) Hearmng Sese strange noises above, the thought at
once oocoumes 10 me that thieves had entered the
=1

A) Tt Bweves had B) No error
enErad e house

C) fethougitaonce D) Hearing these
occurred 1o me sirange noises above

Directions. In QuesSion nos. | R%w - 577 83T 11110 175 %,
out of the four abematives, choose the one which can be
Wh-“mmmnw
biackening the appropriate circle in the Answer Sheet.

171) Showing = dislike of anything improper.

A} Rude B) Strict
C) Crude D) Prim
172) Walking in sleep.
A) Somnolence nambulism
C) Sleepyhead mnia
173) A persert who jgaves hi ountry in order to go
ape Tve i anclier o
~X) lgpri B) Expatriate

{+*' D} Emigrant
e Mmysiat or dramatic interpretation.

A) Reparation B) Report
C) *Imitation D) Rendition

'175) That which cannot be avoided

A} Indifferent
C) Infallible

B) Inestimable
D) Inevitable

Directions In Question nos. / 2w : 777 FEIT 176 to 180
choose the word opposite in meaning to the given word and|
mark it in the Answer Sheet

176) Obsequious
’/A) gllle prominent figures B) is known to A) domi = B) careful
over the world o) cle D
C) Ourbeloved Prime D) No error ) Clewsr $ Spadqua
Minister
177) Enlarge
168) The lions kill the animals and eat his meat. A) amplify B) glorify
A) and eat his meat B) No efror C) augment D) condense
_C) Thelions D) kill the animals
178) Vaciliate
169) Everyone were happy to hear about his success. A) decide B) relieve
A) to hear B) about his success C) repel D) injure
C) Everyone were happy D) No error
179) Unscrupulous
A) Dedicated B) single-minded
C) superfluous D) Conscientious
JMJ2015 [ 8178588 20 PTO
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Part D- English Comprahension / ¥7T & 3 ot

80) Tranguil
A) Temporal B) Disturbed
C) Unruffled D) Perpetual

190) She was 50 that she was by all.

A) proud, respected
C)- talented, praised

B) stupid, admired
D) excellent, wamed

Directions: In Question nos. / fder : w¥T F&AT 181 to 185 &,
of the four alternatives, choose the one which best

‘expresses the meaning of the given word and mark it in the
B Shoce

Directions. In Question nos. / f&er : ¥#7 F&FT 191 to 195 &,
four alternafives are given for the Idiom/Phrase underiined in|
the senfence. Choose the alternative which best expresses the
meaning of idiom/Phrase and mark it in the Answer Sheet.

181) Conjecture

A) bias B) truth
C) knowledge D) guess
182) Annihilate
A) Deduce B) Destroy
C) Solve D) Initiate
183) Interference
A) fearful B) honour
C) obstruction D) deference
184) Verisimilitude
A) fantastic B) authenticity
C) grotesque D) festive
185) Quarry
A) denounce B) victim 5
C) quake D) quest i

o 3

3

Directions. In Question nos. / B&er : 757 F527 186 to 190 &
senfences given with the blanks to be filled in with” an
appropriate word(s). Four alfernatives are suggested for sach
question. Choose the correct alternative out of the four and
indicate it by blackening circle in the Answer Sheet,

186) The little boy ran _fast that he was for
breath ds
&) so, inhailing B) so, gasping

C) too, fighting D) wvery, struggling

187) There were so many points in his speech

that the audience to get the message,

A) superficial, listened B) irrelevant, failed
C) interesting, tried D) relevant, hastened

188) He was so at his job that he was asked to
give a

to the visitors.
A) accurate, display B) able, disclosure
C) -adept, demonstration D) agile, demalition
189) The of the 'Chief was upon him.

A) title, imposed
C) name, dismissed

B) appointment, thrown
D} fitle, bestowed

I

191) The officer was in the soup when there was a raid

in his office

A) drinking soup
C) to be in trouble

192) To win laurels

B) preparing soup
D) distributing soup

A) Toearn great
prestige

C) To bevictoriousina D) To memorise
g-ama -l -

B) To be disappointed

-

193) We must draw the line somewhere!
Bl
D)\ @m afthe sky

-

A) turn the tables
C) put the screw on

194) To.cdl the Gordia n knot

A) twﬁw jobl &) 1o perform a difficult
perfunctodily task
€) 1o cuts pieceofcioth D) to perform an easy

task

g.gﬁ} The shopping mall is a bee hive of activity.

B) abusy place —
D) a costly place

A) = secure place
C) asweet place

Directions : in Question nos. / fAder - Yo7 &F&GT 196 to 200 &

in the following passage some of the words have been left out.
Read the passage carefully and choose the correct answer fo
each question out of the four alternatives and fill in the blanks.
Passage
A team of Indian engineers __(l)  shown that digital
photographs of the hand may _ (I} _ cholesterol levels in
the body and serve as an early warning signal __{lll)
poor lipid health without a standard blood test.
Researchers believe the programme may be _ (IV} _in
the future and _ (V) into mobile phones to enable it to
analyse digital images of the hand captured in the
camera on a mebile phone.

196)
A) (l) =Has B) (I) = Has been
C) (I)=Are D) (I} =Have o
197)
&) ()= Reveal B) (Il) = Conduct

C) () = Conjecture D) (ll)= Conceal

JMJ2015 7 8178586

1

PTO

Download From: http://sscportal.in




Download From: http://sscportal.in

Pat O English Comprehansion / 5T & 3kt aftamr ‘

198)
A} (lll) = Before
CLJB} =Hy
199)
A) (IV) = Refined
C) (V)= Resolved
200)

A) (V)= Fixed
C) (V)= Formulated
—

B ()= Of

D) ()= At

B) (V)= Recorded =
D) (V) = Retracted

B) (V)= Loaded
D} (V)= Featured
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